1. What happens when the ventilation/perfusion ration of a lung unit decreases? The alveoli in that unit develop a:
A. higher PO2
B. lower PN2
C. higher PO2 and lower PCO2.

D. higher PN2 and higher PO2
E. higher PCO2

2. Which of the following gases in the healthy subject is diffusion limited?

A. CO2
B. CO
C. Both A and B.
D. O2
E. Nitrous Oxide 

3. The structures (or barriers) through which O2 must diffuse in passing from the surfactant containing liquid in the alveolar lumen to hemoglobin are in the following order:

A. alveolar membrane, basement membrane, plasma, capillary endothelium, erythrocyte membrane.
B. alveolar membrane, basement membrane, capillary endothelium, plasma, erythrocyte membrane.
C. alveolar membrane, plasma, basement membrane, capillary endothelium, erythrocyte membrane.
D. basement membrane, alveolar membrane, plasma, capillary endothelium, erythrocyte membrane.
E. capillary endothelium, alveolar membrane, plasma, capillary endothelium, erythrocyte membrane. 

4. All of the following are factors that determine the quantity of gas that will diffuse through a barrier EXCEPT:

A. surface area (A) available for diffusion
B. thickness (T) of the barrier.
C. molecular weight (M) of the diffusing particle.
D. pore radius (r).
E. driving pressure (P1 - P2). 

5. As compared with a normal lung, one feature in common in obstructive and

restrictive lung diseases is

A. decreased vital capacity

B. unchanged total lung capacity

C. decreased tidal volume

D. unchanged residual volume

E. increased inspiratory reserve volume

6. The largest amount of carbon dioxide in the blood is transported as
A. Dissolved CO2 in plasma
B. H2CO3 in plasma.
C. Carbamino hemoglobin.
D. HCO3.
E. None of the above
7. The enhanced unloading of CO2 from hemoglobin when PO2 is increased is referred to as:
A. The Bohr effect. 

B. The Haldane effect. 

C. A chloride shift. 
D. Hypercapnia. 
E. Polycythemia. 
8. Which one of the following is not a function of the pulmonary system? 

A. To regulate the blood's hydrogen-ion concentration. 
B. To provide and eliminate gases. 
C. To regulate internal gas pressures. 
D. To provide a source of water for the body. 
9. That the lung surface and thoracic wall move in and out together, rather than separately, during breathing is assured by the: 
A. Diaphragm. 
B. Intercostal mu 
C. Intrapleural fluid.
D. Alveoli. 

10. Expiration during normal quiet respiration results from: 
A. Contraction of the diaphragm. 
B. Contract scles. ion of the inspiratory intercostal muscles. 
C. Contraction of the abdominal muscles. 
D. The passive return of the lungs and thorax to their original dimensions due to relaxation of muscles

11. Which receptors are stimulated by low arterial pO2? 
A. Carotid bodies. 
B. Central baroreceptors. 
C. Peripheral baroreceptors. 
D. Pulmonary stretch receptors. 

12. Respiration involves two phases: the first, ________ , involves exchange of gases between the blood and air. The second, ___________ , involves exchange of gases between the blood and tissue cells
A. inhalation; exhalation
B. inspiration: expiration
C. external; cellular
D. external; internal

E. internal; external
13. In order for hypoxia to be a stimulus for respiration, its level in the blood must reach a partial pressure of at least ? mm hg.
A. 150
B. 100
C. 90
D. 80
E. 40 to 50
14. Hyperventilation leads to:
A. decrease in plasma bicarbonate and an increase in blood pH.
B. an increase in plasma bicarbonate and a decrease in blood pH.
C. a decrease in plasma bicarbonate and a decrease in blood pH.
D. an increase in plasma bicarbonate and an increase in blood pH.

E.  

15. Blood in the pulmonary artery is
     A.  bright red in color because it has a high oxygen contraction
     B.  dark red in color because of its low oxygen concentration
     C. dark red in color because of its high carbon dioxide concentration
     D. bright red because it has a low carbon dioxide concentration
     E.  the color is red for none of the above reasons
True or False? Questions. 
16. A patient with a spinal transection below the level the phrenic nerves exit the cord has to rely on devices that assist breathing. 

17. As altitude increases, the partial pressures of O2, CO2 and N2 fall, but their fractional concentrations do not change from sea level to the troposphere (8 miles above sea level). 

18. Carbon dioxide dissolves less readily than oxygen in plasma water.

19. At the mitochondrion, PO2 is about 2 mm Hg. 

20. At rest, the pulmonary capillary blood is in contact with the alveolar gas for only 0.25 seconds. 

21. In the condition known as pneumothorax, the intrapleural pressure becomes the same as atmospheric pressure. 

22. An increase in lung compliance means that the lung also has an increased elastic recoil force. 

23. In the normal lung, low V/Q ratios are found at the apex, and high V/Q ratios at the base. 

24. "Interdependance," refers to the stabilizing influence of alveoli on their neighbours. 

25. A single ion of ferric iron, Fe3+, lies at the heart of each porphyrin ring. 

26. Match the following:

A. expiratory reserve volume

B. functional residual capacity

C. inspiratory capacity

D. inspiratory reserve volume

E. residual volume

F. tidal volume

G. vital capacity

_______c_________Maximum volume of air that can be inspired after a normal expiry

_______e________Air left in lungs after maximal expiratory effort

_______g________Maximum that can be breathed in after a maximum expiry.

_______a_______Air expired by maximal effort after passive expiration.

_______f________Volume of air moving in or out in each respiratory cycle.

_______b________Volume of air in lungs at the end of a normal expiry

_______d________Air inspired with maximal effort in excess of tidal volume

SECTION Fill in the blanks

27. As the pH is higher in the _______than it is in the _________, hemoglobin binds O2 _________.

A. lungs….body tissues….less well.

B. lungs….body tissues….better.

C. body tissues….lungs…..less well

D. body tissues….lungs…..better.

28. Describe what is meant by the Haldane and Bohr effects and explain how each contributes to the delivery of oxygen to the body tissues.

Bohr effect: decreased affinity of hemoglobin for O2 in the presence of CO2 and H+

releases O2 to the body tissues where it is in short supply.

Haldane effect: increased affinity of hemoglobin for CO2 and H+in the absence of O2

makes more O2 available in the body tissues where it is needed.

29. Every time the respiratory center of the medulla fires, nerve impulses exert ___________ On the pneumomatix center; this results in a(an) __________ in firing of the ____________

A. positive feedback; decrease; lungs
B. A positive feedback; increase; apneustic center
C. A negative feedback; increase; pneumotaxic center
D. A negative feedback; decrease; respiratory center
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